
i State Parity Ai gi(θππ, θKπ, φ) M(mππ)M(mKπ)

1 V V 1 A0
ρK∗ cos θππ cos θKπ Mρ(mππ)MK∗(mKπ)

2 V V 1 A
||
ρK∗

1√
2
sin θππ sin θKπ cosφ Mρ(mππ)MK∗(mKπ)

3 V V −1 A⊥
ρK∗

i√
2
sin θππ sin θKπ sinφ Mρ(mππ)MK∗(mKπ)

4 V V 1 A0
ωK∗ cos θππ cos θKπ Mω(mππ)MK∗(mKπ)

5 V V 1 A
||
ωK∗

1√
2
sin θππ sin θKπ cosφ Mω(mππ)MK∗(mKπ)

6 V V −1 A⊥
ωK∗

i√
2
sin θππ sin θKπ sinφ Mω(mππ)MK∗(mKπ)

7 V S 1 Aρ(Kπ)
1√
3
cos θππ Mρ(mππ)M(Kπ)(mKπ)

8 V S 1 Aω(Kπ)
1√
3
cos θππ Mω(mππ)M(Kπ)(mKπ)

9 SV 1 Af0(500)K∗
1√
3
cos θKπ Mf0(500)(mππ)MK∗(mKπ)

10 SV 1 Af0(980)K∗
1√
3
cos θKπ Mf0(980)(mππ)MK∗(mKπ)

11 SV 1 Af0(1370)K∗
1√
3
cos θKπ Mf0(1370)(mππ)MK∗(mKπ)

12 SS 1 Af0(500)(Kπ)
1
3 Mf0(500)(mππ)M(Kπ)(mKπ)

13 SS 1 Af0(980)(Kπ)
1
3 Mf0(980)(mππ)M(Kπ)(mKπ)

14 SS 1 Af0(1370)(Kπ)
1
3 Mf0(1370)(mππ)M(Kπ)(mKπ)


